



Имя: _____

Дата: _____ Оценка: _____

$$\left(-\frac{1}{2}\right)^{(-1)} + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{4}\right)^0 + \frac{3}{4} =$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{2}{5}\right)^2 - \frac{1}{5} =$$

$$\left(-\frac{1}{6}\right)^{(-1)} - \frac{1}{6} =$$

$$\left(-\frac{3}{4}\right)^{(-2)} + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{5}\right)^{(-1)} + \frac{1}{3} =$$

$$\left(-\frac{1}{3}\right)^{(-2)} - \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{4}\right)^{(-1)} + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{2}{5}\right)^{(-2)} + \frac{3}{5} =$$

$$\left(\frac{1}{6}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{2}{5}\right)^0 + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{2}{5}\right)^{(-1)} + \frac{3}{4} =$$

$$\left(-\frac{3}{4}\right) + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{3}{5}\right)^2 - \frac{2}{5} =$$



Имя: _____

Дата: _____ Оценка: _____

$$\left(-\frac{1}{2}\right)^{(-1)} + \left(-\frac{1}{5}\right) = \left(-\frac{11}{5}\right) = \left(-2\frac{1}{5}\right)$$

$$\left(\frac{1}{4}\right)^0 + \frac{3}{4} = \frac{7}{4} = 1\frac{3}{4}$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{1}{2}\right) = \frac{33}{50}$$

$$\left(-\frac{2}{5}\right)^2 - \frac{1}{5} = \left(-\frac{1}{25}\right)$$

$$\left(-\frac{1}{6}\right)^{(-1)} - \frac{1}{6} = \left(-\frac{37}{6}\right) = \left(-6\frac{1}{6}\right)$$

$$\left(-\frac{3}{4}\right)^{(-2)} + \left(-\frac{3}{4}\right) = \frac{37}{36} = 1\frac{1}{36}$$

$$\left(\frac{1}{5}\right)^{(-1)} + \frac{1}{3} = \frac{16}{3} = 5\frac{1}{3}$$

$$\left(-\frac{1}{3}\right)^{(-2)} - \frac{1}{2} = \frac{17}{2} = 8\frac{1}{2}$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{3}\right) = \frac{7}{12}$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{4}\right) = \left(-\frac{21}{100}\right)$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{2}{5}\right) = \frac{37}{80}$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{4}\right) = \frac{41}{100}$$

$$\left(-\frac{1}{4}\right)^{(-1)} + \left(-\frac{1}{4}\right) = \left(-\frac{17}{4}\right) = \left(-4\frac{1}{4}\right)$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{3}{5}\right) = \frac{24}{25}$$

$$\left(-\frac{2}{5}\right)^{(-2)} + \frac{3}{5} = \frac{137}{20} = 6\frac{17}{20}$$

$$\left(\frac{1}{6}\right)^2 - \frac{1}{2} = \left(-\frac{17}{36}\right)$$

$$\left(-\frac{2}{5}\right)^0 + \left(-\frac{2}{5}\right) = \frac{3}{5}$$

$$\left(-\frac{2}{5}\right)^{(-1)} + \frac{3}{4} = \left(-\frac{7}{4}\right) = \left(-1\frac{3}{4}\right)$$

$$\left(-\frac{3}{4}\right) + \left(-\frac{1}{5}\right) = \left(-\frac{19}{20}\right)$$

$$\left(-\frac{3}{5}\right)^2 - \frac{2}{5} = \left(-\frac{1}{25}\right)$$